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Hall Ticket ‘ - Signature of

Number : , ‘ ' oo the Candidate

Time : 2 Hours Total Marks: 120

Note: Before answering the Quest'ions, read the instructions carefully given on the
‘OMR sheet. ’

K}Pvi’)‘é':

(3406 aTraen (Frods ol OMR awre Hgind® aésm&é'éﬁdeéen e\ SSHod. -

SECTION -1 (MATHEMATICS)

1. {a,bc}u{p,ariniae q}= _

1) {aaq} @ {b g} @) {e g} (4) None (98 s)
2  If the statement p=2008 is a leap year then the truth value of p is

P=2008 28 35 Hodd Bin o (HHSSEn o) BEg Deod AN

M F @ 0 ®» T (). None (25 s)
8 f:A->By=f(x)=3x-2, f(y)=

x+2 x+3 yJ.-\iZy ‘ ¥+3
o ) = -

1) 3 (2) ) /(-I 3 _ @ 2
4 f(x) =x isa.— - functifn, ‘

(1) Inverse (2) Constant (3) Identity () None

f (x.) =N odD el o s Lt.’)éoom&n .

M o5 (CITNE T (3  $8y% 4 98 =
5 If f(x)={x-1}{x-2)(x-3), then the remainder when f(x) is divided by

x—4 is ,

ff{?x})l = (x-1)(x—2)(x—3)  x—48 grAodd Sy Tk

9 @ 24 @) 12 @ 6
6 (xﬂl)(x-z):x2—11x+2:>h2—2: ‘

QD 5 @ 7 3 9 (4) None (26 s=c0)
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In the linear programming problem;

Maximize Z=2x+3y,x+¥y<1,x20,¥y20,2x-3y<1. Z is called

& (80D D¢ Hrd [Herdse gt Z H» __ wotrd.

Z=2x+3y &, x+y<1, 2x-3y<1, x20,y20 o Jonired, (565 Banod.

(1) M_aximum function (#5630 ERbaniv)  (2) Mir_nimum fuﬁction (5% ERb o)
8) Objective function (ofg Fooviw) (4) Noné (& s°‘dJ)_’ ‘ '

1+x
Lt ——-=
() 1+k
1 : 2) 1+k g : H —
(1) (2) ) 1+ % ) 1+x
4/ 5[520 _
(1) 280 @ 22 3 2. @ 1
p+l,g+1,r+1 are in A.P. if
P+1,q+1,7+1 ©o8FdS okt oy ,
(1) 2g9=p+1 (2) 2g=r+1 B 2q=pr 4 Nqne (b seeb)

A, G, H are AM, GM, HM between two numbers. Then
Todh ©oBe Wiy AM, GM, HM « A, G, H wodS

ey

() A®-GH @ G*=Ad 8) H?-=4G (4) None (28 s°)

APQR is an equilatera} triazigle. S is the mid point of QR. Then A PSR is a
triangle. | : '

. (1) Right angled 2) Acute angled (3) Obtuseangled (4) None

A PQR K)ané*w.j\;émesfén won, QR Bng) Doy Dothy S wowd A PSR __ (B,

(I) ej"?q\%‘“tp, (2) oo e (B) obg s @) 26 =,

In a right angled A ABC(<B=90°), if AB =L, Bc-1 then ac-

D q

o5 woutie Bavwiy A ABC (£B=90°) & AB=1, BC=1 wows AC-=
. | q

p .
M \fp q ) \‘pz e (3) \fp g 4) \’pz @

EECC - 2008 - A| 2 [Contd...
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14 The medians of a A XYZ .intersect at the point S. Siscalled ___ of A XYZ.

(1) Orthocentre \(2) Centroid (3) Incentre (4) Excentre
AXYZ gy ddgns Baen S o Dok K)%S 20S0HEHT S L - wotrth.
(1) oow SoBiw (2) - So eednw (3) wo&s éo_@ﬁ:m (4)  erdrg Soldmw

15 How many common tangents can be drawn to two circles of radii 2.8 cm and
2 em respectively if their centres are 2 cm apart ?

2.8 20.8, 2 Wb gt Bod syEhue Dig Groin 2 0.0 eand w6 &d H6ive

Howg. -
n 1 : @2 3) 3 4 4
16 A tangent to a circle is alﬁvays perpendicularto ___ through the point of
contact. . ,.J ‘
() Chord «® Radius | (3 Anyline ~ (4 None
28 Hydin Gnsy 6T JJPd 98 Doty ow Iy & wowidnm ok,
(1) erg . ‘vr(2)' | grdin (3) 3% »uedw 4) b s

17 The opposite angles of a cyclic qudrilateral are
Slad Stz wdinvy Saren P
(1) 90° | ' \/é) Sup*)le'n otary (K)o@vdgsa»w)
(3) Complgmenté.ry (Spsssnen) (C)] None (96 s)

18 In an equilateral triangle with side p; thelaltitude is
Soardy 1Bghain G ghady p @qﬁi“{, e Wik

2 - ‘ v y P\E P\E
o F o @ @ 5 @ S
19 If A=(2,3), B=(5,-1),C=(20), then AB®+AC® =
A=(2,8), B=(5,-1),C =(2,0) wons AB®+AC®=
\/(1?'” 30 @ 34 (@) 35 @ 3
20 1f A=(29), B=(23,30),C =(83,90), then A4, B,C are
\_,.(‘15 Collinear _ _ (2 Non-collinear
(3) Form a right angled triangle (4) None
A=(2,9), B=(23,30),C = (83,90) wons A4,B,C e
(1) a8 H6eBn ok (2) 28 s8¢0 sodH
(B) af woutn (BzdadorbHiy : 4y 28 s~
EECC - 2008 - A] 3 [Contd...
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21 Ifa stralght line passes through (1931 1941), (1984, 1994), (1998, 2008), then its
equation is

(1931, 1941), (1984, 1994), (1998, 2008) oo Hoa Y w vEeBy S Ebaimn
(H x-y=10 2 x+y=10 L B) x-y+10=0 (4) x+y+10=0

22  Distance of the point (¢ cost, asint) from origin is

(acost,asint) oot fare Hohin$H Ko iy Erdin
(1) cost (2) sint -3y f 4 a

23 Slope of a line perpendicular to 3x+5y+29 =0 is
Ix+5y+29 =0 ©b 36¢ B comin wodh o ey
3

3 o B 5
W @ -z v® g @ -3

24  General equafion of a straight line passing through origin
sb Dot hom FEH JEYTP Fegrde, LrdEn .

(1) y=mx+c © y=mx-c (3 y=mxzte (‘i)'-y*—-kx

25  Slope of the perpendicular bisector of the line joining (-a, b),(p.-q) is
{(-a,0), (0, - q) o® g a‘)dq;féa);ﬁ; oowinm Sioghosd Bot $38) So T

qg-b p-a .

g+b } p+a
@

pta \//(2)

’(3)

@) g+b ; p-a

3
26 Slope of the line perpendicular to ¥ = mx—z is -

3 ,
y=mx _Z L0020 Dot é{ﬁ%‘r‘é&p e

1 -~ '
1) =~ V@) - @ m @ -m

"

27 If 7a+8b+3c =0 then the line ax +by +c=0 passes through the point

Ta+8b+3c=0 wovd, ax+by+c=0 oo ___  Dodpoa FHid.
' 7 8 7 8
L M. [ggj 2 (7,8) 3) [—5,—§] (fi}_. (-7,-8)
EECC - 2008 — A} 4  [Contd...
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Slope of the lme perpendicular to =+ %:1 is
a

£+-§_$1 % vowdum Sot $6¢8p en

a

b b a a
P ® a @3 @
Point of intersection of the lines _£+Z:1, Xiroqif 14—1 =1 is

- a b b a . a b
l+l~_~17@cma& E%—l:l, £+~3i=-1 Bwew p0&oLES Doty
a b a b b a : _
' (a, b) @ (ba) ® (L1) (@ None (96 5)
11,
Equatlon of the line with intercepts ; E is
11 o i
;» E wod8 poen wond KWy HDESodL
Y x Y

1 —+==1 —+==1 . v =1 =
@ p7q @ 77 W) PXEGY= 4 gx+py=1
sinb = k, tan6+cos0 = _ R by e

1-k+k2 C1+k-E / 1-k-k* , - »
1 — 2 — /(3 —— “@ N o8 s
(1) -k 2) \/1—_’\—-\‘ ) T ¢ one (J6 s°eh) |

' P RN T
x=5bsechB, yxbtanf; X"~ y" = .
® 5 @ - A 2 e L

- : 5 I “) 26
cosZe ‘sm' 0=

- 1-tan®0 - l—botze
(1) 1-tan?o — 3 —5— 49 N 08 e
) ; an” 0 2) 1+ tan®0 ()-, 1+ cot?6 4 one (26 s°»)
cos0=
1 1 1

e N 2y —— @) (4) None (26 soev)
V1 +tan® o V1+cot?e 1+sinZ0 ‘ . ‘

EECC - 2008 - A] 5 [Contd...
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35 sin70° sin80° sin%0° ...........sin200° = ,
1 1 2 2 (3 3 4 0
36 cos70° cos75% cosB80° cos85% ... cos135° =
a1 @ -1 V@3 0 (4) None (98 so)
37 sin®(45+0)+sin?(45-0)= .
(1) sin®0 - (2) cos?0 %) 1 (4) None (28 sc0)
38 tan?0 = |
A cos’® . 4 sin?9 1 © 1+cot’o @) None (96 5:)
tan260°
39 . 3cot’ 30° =
10 \/({
1 1 2 —_ i
(1 @ 3 B 10 @,
40 sin® 9-[tan2 Z—+ cot? GJ =
(1 -1 2 o @ A4 1
41 sin(90+6)tan(90-0)cos(90+0) =
g 1 ) 1 h
LW el @ et @ 1oL @ —-1
cosec™0 ¢ cosec”8 : sec” 0 sec” 6
s cot 15° cot 207 ¢ot-25° tan 75°. tan70° tan 65° = o
' ‘,}\(‘1) -1 ‘ 2 o @ 1 1\ 4) o
':.':—"'T - 3 \"
43 Eeos’ 5 4sin’0 = 1, k=
L1 @ 0 (3 -1 (4) None (D& s2%)
44 4sin®60°+3tan®30° _
| 12 cos”30° +9 cot® 60° ,
a L g 1Y 3 = \"fi*‘f None (9%
) 1 2) 3 3) 6 A ;one (@b o)
" EECC - 2008 — A] 6 [Contd...
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45 1+tan®20° =

1 1 1

1 e o 2 Y 3 o o 4 b

M 1-cos”20° ) 1-sin®20° ) tan” 20° (4)  None (28 5t9)
46  sinf= 2x9, cotf =

1+x”
2x 2x 1 x? 1+x?

1 2 A ¢ : 4

{ ) 1-27 @ T2 @ 5 _ @
47 AM of the numbers a¢-3d, a-d, a+d, a +3d is

a-3d, a~d, a+d, a+3d o SZodinddH vof Dt

:.‘_J(FI')" a ‘ (2) 2a 3 3a @ 4da

48 Formula for finding Mean is
©0o8 e gudn e Argdo

f - Efx Zx
—_— N\ _— — (9
Oy Y @ 3 ! (49 None (38 sud)?
49 Formula for finding Mode is
g 8l EHLfATdE g
Ac : A, : '
v 1 @ I+ @ I +—=D (4) None (26 s%)
1A +4, LA +4, 1 Aiway ~

50 For the data 101, 593, 625, 825, 953, Mode is,
101, 593, 625, 825, 953 ed sorodndd wirosfsH : L
(1) 953 (2) 825 3y, 593 ¥4) does not exist

51" The empirical relation among Mean (p), Median (g), Mode (r) is "
 wosnds oien (D), wodgrae (G, vivesin (1) Sy omerds sowodion
\7\_5-(1)' r=3q-2p A% q=3p-2¢ (3 p=3r-2¢ (9 None b s®)
52 For the dagd I 1,2, 2,2, 8, 4, 5, 5, 5, 5, 6, 7 Mode is’
1,1, 2,2 % 34,5 55, 5 6, 7 ob Serodins® aimvsn
D 2 @ 4 5 5 (4) None (28 =)

53 Observations of some data are g,x, 3.;*, gag where x> (. If the Median of the
data is 15, then x =

o, T E L gn o0 s08omotine wie (85 15 ©owd
3;37,9,5 & N, ST 0] © edg @ovd x =
W 2 45 3) 105 (4) None (286 s=¢%)
EECC - 2008 — A] 7 . [Contd...
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\/B4 ', AM. of the numbers 1,2,3,..........100 is
1,23 100 o Sarofinss wof DHeghitn
QO 57 @ 67, @ 77\ AD None (6 sch)

55 A{zg} B=[12 7], AB=

M 3 @ [3] @) [24 1“} ) None (96 )

-36 -21

: 3 9 9 _
] A= y B= ’ s , A+B =
6 11 11 -6 °

. _ -6 6 6 -6 '
a (1212 @ —[ } ~ @) —{ | } (4) None (98 5c)
17 17 -5 5

79 1 13 11 19

G 5 3 2 15 17 18
. BT A=[ }, Bz[ > } then A+B=

59 All-parts of a-computer are controlled By

: 111 111 I TR R .
1 10 : 2 3 LY \’\’ ; y .
® L 1 J 2) 15[1 ) 1] ( }/ 20’{}\ 3 IJ (4) None (28 sot9)

58 If A:[lz ?‘j then det(d)=

A= [12 :} o Hr(B% By D%ﬂb’éé»

1 50 @ w0 @ 30 M8 None (98 s%)

) CRU (2) Memory (3) Output Unit (4)"" None
Sofpgbe® 0d) dprmrey ____ efpios® dotwow. B
(1) B0 dd arto () @B @) TEHS el (@) 96 s

60 __ is used to make a diagramatic representation of an algorithm
(1) Flow chart (2). Computer (3) Hardware (4) None

A

28 OSTOEHL K00 ErHost BoFEIE & &56IrAR.
(1) s g () Lodypgeb (3) w535 @) 958 s
EECC - 2008 — A] 8 [Contd...
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SECTION - II (PHYSICS)

61 The minimum diétance thai; can be measurgd by using a screw gauge is
w8 7 PELHTrA0D Fodddas s8 drto 7 |
() 0.1cm : (2 0.01cm ./(3) 0.001 em (4 1cem

62 The factors that influence the value of 'g' are
‘g Devdid @erddo Datw e
(1). Depth (5*%) , (2) Altitude (&3)arodin)
(3) Loeal conditions (gvbé m’.sgémn) v(é) All the above {(3#ya%0)

63 An object is projected upwards with a velocity of 100 mfsec If g =10 m/sec?, then
it will strike the ground in approximately
28 $309% 100 D/, Bfod® 28 WOz, g = 10 /D2 wond @ 39%) o eHOH wirdmm
éééu sTeORNn
(1) 10 sec (2)v20 sec 3 25 sec (4 b sec

64 A body thrown up vertically reaches a maximum height of 100 m. Another body
with double the mass thrown up w1th double the initial veIocnty wf'l/reach a
maximum height of :
28 S M devPHrr 100 b o mcsma Beloy Ldégm% o D& £, ooy & Wtos
0 v 36{1&) KBR D% | _
(1) 400 m (2) 200m 3) 100‘;'1'(: 4 25 m

656 A car moves from A to B with a constant speed uf’ZO kmph and then from B to
A with a constant speed of 30 kmph, the'{té/e average speed of the car is
28556 A 008 B © 20 8.0/, 5568 Fas 864 B os A © 30 8./do. $388 80A 538,

& HovHd BB . )
) 24 kmph (2) 26 kinph (3) 10 kmph 4 o
66 The maximum height attaired by a body projected with a velocity 'u' is
St o8 8 Wpdene DG S Bde (6P K

1) 1 gZu? @) 2u¥g v (3 uig ' 4) g/2u?

67 A body ig m)ovmg with a constant speed 'v' in a circle of radius 'r', its angular
acce]orauon is ' '

g0 o HyErsd Grgos’ e ;sefn@ " 6 0B Apunsy ord Sdod dgswo

(1) v/r (2) vr 3 0 4) wvr2

68 The angular velocity of a particle which makes 300 revolutions per minute is
2 S0 AVFVE 300 |wderey Bod. © Swo By SBdaw o ‘
(1) x/30 radian/sec (Z2) x/10 radian/sec
; , 1

\/(3) 10z radian/sec 4 0= radian/sec
EECC - 2008 - A] 9 [Contd...
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69 ‘ﬂW)?en a cyclist moves on a circular path -

(1) Byms6 trdod® Boldo By BersBH  (2)  Bymes srgos® oo wdBY SokEBE
(B wden HoRErGS . ' (4)  eowo Sowd BHoKEBD
70 Cream gets separated of milk when it is churned. This is due to
Frof DOESHPE Bh) BEHLH Ko S*EmiHn
(1) Frictional force (@gm 208E0) (2) Gravitational force (rbd)soségea_amaﬁn)
(3) Centripetal force (wZEo|s wedn) v(() Centrifugal force (e3804 2e%0)
71  Among the following the one that has the shortest wavelengtly is
' (1) Microwaves (2) Radiowaves (3) Xrays Y -rays
& (808 IS B sdor Besin ©b S8
(1) 8 sdodiwen (2) BAB> Sdorsawen (3)  X-8smiwen (4) y-8mioen
72  Sound travels fastest in
WD Steel (2) Air 3) Water (4 ~Vacuum
B30 & (800 oS® Bedre (Haxrod :
(1) de @2 ™o (3) . d% @) #rdgin
73 In a stationary wave the distance between two suceessive node and antinode is
0.1 m. The wavelength of the wave is
w8 SB0Mns® Bot BB Léaaod;é 0068 FdHoe Kndg drsdn 0.1 wond $8or Bggawo
() 01m (2) 02m (J) 0.3 m A4 04m
74 The densities of two gases aze in _the ratio of 16 : 9. ‘The velocities of sound in
thie gases having the same pressure will be in the ratio of
| Both DB FoldE 3&’1‘3%‘1\& w9, oF beo B8 e Both Totude g Bridve A
(1 4:3 /{ﬁ 3:4 (3 16:9 1) 9:16;,—_
7 The waves us _\\d i telemetry are o
(1)  X-rays (2) Radiowaves (3) y-rays \/6 Microwaves
B@E‘h ¥’ eoqrAod Sdodsinen : ' : , -
() X-8dmdven - {2) JA&DIr ddorddoen (3) Yvédsam)e_» 4) D8 ssosdwen
76 Light waves are s - o PR
(1) Transverse (2) Long1tud1nal '
A8Y Transverse electromagnetic (4) . Mechanical
508 Sdorie _ ‘
(1) 8sgE | J (2) ©338s
(3)  BugE %gE @Joﬁa’r’a_oé ‘ (4) oxroldg
EECC - 2008 ~ A} 10 [Contd...

He bends towards the centre of the circular path
(2 He bends away from the centre
(3) He should not bend
(4) Bends along the normal .

ByEses ardod’ w85 sy g8
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(1) Oxygen (2) Water i 3) Nickel (4) Bismuth
BB wanpo8 HerGENdd Sordrdn ‘
1) oS L@ S (4) 058
80 The S.IL unif of magnetic moment / i
(1) Am 2y A/m A-m?2 4) A/m?
wanr) o8 o S.I. Breo _
(1)  wodo0b - wé&th (2) wodanb/as  (3) &903)&_365-31)&)52 4 2ODOHE/ e 52
81 The valué. of the magnetic permeability of free spaée\ic-
(1) 4 rx1077 meter/Henry @) 4nx 1670 Henry / meter
‘é) 47 x 1077 Henry / meter @ dmx 107 meter / Henry
7550 By oIy 08 (s Jod devd :
(M 4wx107 D/wd LMD 4 1078 erd
@) 4nx1077 O @ 4nx107° B/
82 When neutral points are -o‘rivthe axial line of a bar magnet, the relation between
magnetic moment (¢¥ tire magnet and the distance of the neutral point is
eseaas DocoHey d‘cmmavzroé@ vgoNTad &;srnm W08 (rHEBNIH S0g DodsY
drdﬁnié&; he, éoaod&ﬁ» / }
O M=390d> @V M=1954® ) M=390d> @ M-195d>
83 Even after the removal of applied magnetic field, a magnetic mater‘ial retains
certain amount of intensity of magnetisation. This property is called
28 @Ay 08 Hrdin sod wonFyodssnin % N ering @Oy 08 é@gn:)l éwﬁwaﬁ $568° §'od
o) 0B85 é@ém mmmag"é Bearardy DdoHE?
(1) Susceptibility ($32:00¢) _ (2) Magnetic induction (@) 08 [m)
037 Retentivity (smotioe) . (9 Permeability (&4 308)
EECC — 2008 — A} ' 1 [Contd...
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Cbmpared to ordinary light, laser light has / .
(1) Coherence (2) Directionality {3) High intensity(4) All the three -

Feom 52088 FOW, D 57088 & ogmrenis)d: 7
(1) dowgs 2) &4dons 3 &s @ Dbl
The angle of incidence in air is 45°. For this angle the angle of refractlon in the

medium is 309. The refractlon index of the wiedium is ,
S HAD s“mo 450 & D85 Beoindd arssost :)Lées:)es Ppo 300 ‘Gowd ardé HEdi hmgo

M/ i ® 5 ® ; - w2

ExamplAe‘ of a ferromagnetic substance

www.eenadupratibha.net
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Three cells of voltages 2 V, 3 V and 4 V are connected in parallel. The effective
e.m.f. is

2V, 3V &oom 4 V endy e ergeobon sirosdor 82888 908 e.m.f.

W 9V @ 3V @ 2V M av
If the length of a wire is doubled, the specific resistance of the wire
N1) Remains constant (2) Increases by two times
(3) Increases by four times (4) Decreases by two times
a8 8% Py Doy T, ard 23% A8t -
~(1) gda‘mm Hoduy . (2) Bodh Bew b
3) Fren Béw Db (4) Bod Tev b

If a current I flows through a resistor R for a time t, the heat developed is
Dbg8 wardriw I, Ao R o t stwo (Boird 2doh st
(1) IRt @ IR%t A 2Rt (4 IRt

Which one of the following materials more suitable for makmg cores of
transformers i

(o8 DB 8) Serdived’,  do g @533%&6@‘ &5 S gwoe SSBrACTOH @ B

(1) Stamless steel (% S@ en) 2) Brass (ae_g&) :
3) Soft iron (& awaw) ‘ (4) Aluminivm. (@‘mg&bmm)

Anem.f, of 5 volts is produced by a self-inductancewhehthe current changes ata
steady rate from 3 to 2 amperes in 1 nilli-second, “.l.“)h—e value of self-inductance is
(1) -5 Henrys : 5 milli henrys @) ' 5090 Henrys (4) 50 milli henrys

12268 3 dod 2 wobang Agd ot 4o iy Bothady w8 dgavo(es® § Fweo em.f.
BenrERHS®, Hgavo(Dtn Jend :
1 5 wden (2) 5 5 idew (3) 5000 @ (4 50 . ’m@)en

The following equation 4 lH - 1He + 2+1e +24° Y + + 27 MeV represents
41H - 3He 4-”2.“}}61 207 +27 25 B8y 36 do8 sr 0t
) y,;—\‘aflec;ay (v - ga%o) (2) a-decay (a-— ga0o)

.(3.)" Nuclear fission (érgédﬁS :}z)a;a) ‘),4)/ Nuclear fusion ({rg8oxt H0850)

The charge carriers in a semiconductor are

% (1) Jons and electrons (2) Ipns and holes
. (3) Electrons only Electrons and holes
ad ©f >irsodt B e ’ |
(1)  eord) Hoow JogoP (2) eatriy Hda, SN
3  dogap SR (4)  dogeed Hbak FS)y

EECC - 2008 — A] 12 ' [Contd...
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g1 The atom of the element which shows‘e}actly half-filled d-orbitals.
(1) Vanadium (2) Zinc i3) Chromium (4) Copper
pdydom drio Jodd d-usyerdes Srg) wros SSirms 98? -
(1) $38a%o (2) 0§ (3)  (Eoxo (4) oA
gg The most stable arno‘né the following ﬁ
&3 |Bo0 g3t wSgAYE VS0 IrHHo 67 :
(1) H* , Mnt* (3) Al (4y Na
. ' 56
The nucleons present in the nucleus of 25MR" g
25Mn56 Gng) So|sgod® Ko drg8any Homg
(1) 31 (2 25 V{ 56 ) 23
94 What is the phenomenon called when the spectral lines: split up into smal]er lines
in the presence of magnetic field ?
(1) Stark effect (2) Compton effect
¢3) Zeeman effect (4) Photo-clectric effect
wobdg o8 F& Soghnd D55k 6a>e:o D) D) aBpenrr IBTTHOD DHothdd?
(1) &) dd8w (2) 5"’0935 HOSHL
(3 &8 2085 (4)  5°08-20g8 HOSH
95 If the atomic number is 12, what kind of bond does it form-with-the other kind
of atoms ?
) Ionic bond (2) Covaleptbhond
(8) Co-ordinate bond - {(4) Doe¢ nok foerm bond at all
wrel sdsray Sopg 12 eowd, 288 sEEraPO8 wd NEYESEED wogo 267
(1) ©ord§ wogo (2) | ZHSBredod wodo
(8) dmBgan HAredal wogo (@) wogo sy
g¢ The molecule, which shows pola\r\co-'\‘,;ale*nt bond is
Srd) & Hoareadoy jo Brey osa) ‘
(1) Ny 2) T"u\ 3 H, ) Cly
97 Which of the following pairs of molecules show tripple bond ?
18 2080 WraY) @m@rp #O0 20?
’ (1) CzHg, (,212 A ) CoHs), No ‘ (3) NHS, C2H4 4) Fg, 02
gg "Ina trlaq the dtomic weight of the middle element is approximately equal to the
arlthml§ ic ‘mean of the atomic weights of the 1%t and 3rd elements This was
Obset‘*fed by the scientist
) 1‘d[endeleef (2) Bohr cﬁ) Dobereiner (4) Newlands
188a0S® Dy Dorodhn HEEr GrEin HADS Todk Lwreste HEErm rore HO°HO8 Jhrdin. &
DROKrR) HAODD FeHgerd W
(1) Doudd 2 =% 3) &85 (4) &rgeroby
99 Identify the most electropositive elerﬁent among the following
&t |80 Drosod® odghs ¢S dearsin &by Hresin
() Li - Cs 3) Be 4) Mg
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100 The element -having a ns? npY% outermost electron configuration is called
() Alkaline earth metal \;2)/ Transition element
(3) Inert gas 4) Halogen

aring 56360 Jogred degho ns? npb CONEHH ¥ WreLo

(1) 6 988 o (2) 6583 dareso
(3) =doramny 1) ptas

101 The ionisation energy of Li, Be, B is in the following order o
Li, Be, B furose eatdssn 48 S (800 (§06° dotnod. /
() Li>Be>B (2 L1>Be<B (3) Li<Be<B (4 L1<Be>B
102 The compound which absorbs moisture from the air and fumes
mOS*Y B Hew D PodEy ) Fshm :
\/(3/) BeClg

(1) MgCl, 2 CaCly (4) SrClz
103 Barium oxide '
(1) Acidic AD  Basic (@) Neutral . (4. Amphoteric
BaQ & (808 Hgarardy O Bod0ob., : ‘ . R
1) el @) = B)  sop dgardin (4)  wly wbow FO6
104 The metal which is used in the manufacture of crackers v
rerdom S0XrHe® &HArA0Y Mroghn ‘/
(1) Be (2) Ca 3 Sr 4) Mg

105 Find out the weight of oxalic acid, if 250 ml of its Sﬂluj,mn strength is 0.5 M
(Mol. wt. of oxalic acid = 126)

C 250 .00 0.5 M us 95 el (ordee0s® Ko n)ﬁ‘doe) 20 HOE? (&5 08 wily @eme,rdo = 126)
\S,l/)/ 15.75 gm 2 63 gm , (3) 31 532Tr\1 (4)'1 4.8 gm
- 106 The molarity of 200 ml] of HCI solution is @5 M. Find out the amount of water
to be added to convert itto 0.1 M .
200 2.8, HCI (oot 668 0.15 M wond, 0 M mess SréyEBS) Jod B PRESEOR.
) 100 mi (2) 300 ml (3) 50ml (4 80 ml
107 Find out the mole fraction af zlcohol in a mixture of 10 moles of alcohol and
10 moles of water
10 3rdo wwyHs, 10 &?eﬁeyf\)dm DFDOS® gy HS gy TrS e,rdof.
() 10 : £2)y 5 3) 2 4) 056
108 Mention the ggs evolved when NayCOjg salt reacts with HCl acid
NachS\aﬂuogs HCI w08’ $8g 20D, BB oy JB?
M- Hy @ 0, @ co €O,
109 Ifa solutlon can turn Blue litmus to red, what will be the pH value for it
& (5090 N0 DB AP ErdyKt. Bavd o) pH deid
1) pH<7 2) pH>7 ,
@ pH=7 . : (4) Does not exhibit pH (pH $rixb)
110 Which of the following can ionise completely in water ?

MIS® Defooy HPOT wodEsHo Todtentd Sardo PBH?
‘ KOH

(1) CHZCOOH (2) NH, OH (4) Ca(OH),
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111 How is the arrangement of carbon atomsg-in graphite
(1) Tetrahedral v(é)/ Hexagonal rings

(3) Pentagonal rings (4) Pentagonal - hexagonal rings
(RS’ 52638 HoEraDer ) odsS® dodran? S
(1) B S obds (2) &) erg)d Soarost
() SouBurE)d deoares® (4)  Dos-0E*o8)d deotrod® -
Fay ~n -
112 C-C-C bond angle in diamond / Bvoks® C-C-C wo Fwin
(1) 180° 2 900 3) 1200 AD 1090 28°
113 Unsaturated 'hyd-t'i)/(':arbon- among the following / & (808 o3& wdosyn B 60
(1) Propane (50%) (2) Butane (arg@s)
3) Ethene (£:54%) (4 Ethane (8@Y%)
114 The.element which exhibits catenation / sS85 (5005 Dregin
(1) Nitrogen (F&°=R) (2) Oxygen (s3yzF)
(3) Hydrogen (&) ,_/645 Carbon (s°¢y%)
115 ‘The compound which forms silver mirror when treated with ammonical silver
nitrate is V( _ A ’
(1) Alcohol 2) Aldehyde 3) Ether (4)  Ketone
BTy IES Jegb JBES® 305 Fob HbETPs oD Bod Lred 6 0H SRy
D) wops @ ©pws () &b RN T
116 Polysaccharide among the following / & 808 a¢ 65%/;"-()'3"""65
(1) Fructose (38°%) (2) Gliueose (m»ssé)
(3) Sucrose (&*H) l},dj Starch (od oocod:m)

117 Which one of the following is used ;L’J rémove impurities and to neutrahse
sugarcane juice ?

T PEH Bhost %5y darerdy é‘e_)ﬂoa’néoé‘: é)bam B[EL d:&v{ﬁl S$&5H8803@ 28 Gd@BrACD Sladets

a Co, AD  Ca(OH), @ S0, ° @ Ps05
118 Protein present in naifs / RS doth (295

nge Keratin (SoesR). (2) Haemoglobin (“-ma;ufjas)'

3) Collagenn(S‘{egﬁazSB’ ‘ & (4) Insulin (23y98)
119 OQOils on hydrogenation give —

(1) Saturated fatty acids (2)- Unsaturated fatty acids
(3)- Unsaturated oils Fats
s B edssmin Db D6Y8 30 Didootrdo?
(\l) moée)a) ©°e.§ emm . (2) ododys ed @:ﬁaaﬁn
(3) wRodys $F3en L @) sHges

120 at kind of glass is used in the manufacture of Laboratory apparatus ?
1) Pyrexglass (2) Quartz glass (3) Flint glass (4) Soda glass

{g’ad'lwiave:é‘ HOESHvY Sards® rdady el ddotith?
(1) ﬁég.) e 2 ; s°g8 rrer 3) . 208 e (4) e reor
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